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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.69 5845 | LA | 000 ~ 4.69| 1.83 9.79 Zzh s 1.00 | 5.00 ~ 56.00 5845 | =S | 5,00 ~ 5.00)| 1.83 9.79
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
st 1.00 | 000 ~ 397 49.73 | =hdst | 000 ~ 397|226 12.09 ZzhLs 1.00 | 5.00 ~ 6.19 49.73 | =S | 5,00 ~ 6.19 | 2.26 12.09
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 5.88 73.60 | EnS | 000 ~ 588|211 11.31 ZzhnLst 1.00 | 5.00 ~ 8565 73.60 | EnRS | 6,00 ~ 8656|211 11.31
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.44 81.11 | #hdst | 000 ~ 644|209 11.17 ZzhLs 1.00 | 5.00 ~ 9.51 81.11 | =0 | 5.00 ~ 9.561 | 2.09 11.17
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.96 8829 | =St | 000 ~ 696 | 2.00 10.72 ZzhLs 1.00 | 5.00 ~ 983 8829 | #nst | 5.00 ~ 9.83|2.00 10.72
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
zhLst 100|000 ~ 636 79.99 | Fhst | 000 ~ 636|272 14.53 Zh st 1.00|5.00 ~ 1084 79.99 | #hs | 5,00 ~ 1084 2.72 14.53
. 100kN/mM#ZH#BZ % — -~ = — |3mZE#BZB| 000 ~ 019|321 17.20 | 100kN/m%#B 2% — - ~ — — [3mZEEBRB| 1000 ~ 1091 3.21 17.20
zh st 1.00 | 0.00 ~ 398 49.85 | TnS | 019 ~ 398| 3.00 16.05 zhst 1.00 | 5.00 ~ 10.91 49.85 | =N | 5,00 ~ 10.00| 5.00 16.05
g 100kN/mM#ZH#BZ % — -~ = —|3mZE#BZ 3| 000 ~ 0.06|3.07 16.42 | 100kN/m%E#BZ % — -~ — — [3mZE#BRB| 1000 ~ 1312 3.07 16.42
ZhLst 1.00 | 0.00 ~ 527 65.68 | TnLS | 006 ~ 527|300 16.05 zhs 1.00 | 600 ~ 1312 65.68 | =N | 5,00 ~ 1000 3.00 16.05
9 100kN/mM#ZH#BZ % — - ~ — — |3mEFBZB| 000 ~ 024|529 17.62 | 100kN/mM#E#BZ % — - ~ — — |3mZE#BZB| 1000 ~ 1290 | 3.29 17.62
Zzhn st 1.00 | 0.00 ~ 4.11 51.38 | =hst | 024 ~ 411|300 16.056 Zzhn st 1.00 | 5.00 ~ 1290 51.38 | =S | 5.00 ~ 1000 3.00 16.06
10 100kN/mM#ZH#BZ % — -~ = —|3mZE#BZB| 000 ~ 019|322 17.21 | 100kN/mZ#B %% — - ~ — — [3mZE#BRB| 1000 ~ 1312 3.22 17.21
Zh st 1.00 | 0.00 ~ 4.52 56.34 | TnS | 019 ~ 4.52| 3.00 16.05 Fhst 1.00 | 600 ~ 1312 56.34 | TN | 5,00 ~ 10.00| 5.00 16.05
17 100kN/MZ#B% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 7.69 98.59 | =hst | 0oo ~ 769|244 13.06 zhst 1.00 | 5.00 ~ 1139 98.69 | =hLS | 65.00 ~ 11.39|2.44 13.06
19 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 5.48 6838 | =nLs | 000 ~ 548 1.87 10.02 st 1.00 | 5.00 ~ 6.24 68.38 | Ens | 6,00 ~ 624|187 10.02
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




